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amOZr{V {dkmZ 
POLITICAL SCIENCE 

 
{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 100 

Time allowed : 3 hours Maximum Marks : 100 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 15 h¢ &  

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >27 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm & 10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 15 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ g§»`m 1 – 5 VH$ àË`oH$ àíZ EH$ A§H$ H$m$ h¡ & àË`oH$ àíZ H$m CÎma 20 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iii) àíZ g§»`m 6 – 10 VH$ àË`oH$ àíZ Xmo A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 40 eãXm| go 
A{YH$ Zht hmoZm Mm{hE & 

(iv) àíZ g§»`m 11 – 16 VH$ àË`oH$ àíZ Mma A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 100 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 17 – 21 VH$ àË`oH$ àíZ nm±M A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m 21 _mZ{MÌ na AmYm[aV àíZ h¡ &  BgHo$ CÎma AnZr CÎma-nwpñVH$m _|  
{b{IE & 

(vii) àíZ g§»`m 22 – 27 VH$ àË`oH$ àíZ N>… A§H$m| H$m h¡ & àË`oH$ àíZ H$m CÎma 150 eãXm| 
go A{YH$ Zht hmoZm Mm{hE & 

 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions number 1 – 5 are of one mark each. The answers to these 

questions should not exceed 20 words each. 

(iii) Questions number 6 – 10 are of two marks each. The answers to these 

questions should not exceed 40 words each. 

(iv) Questions number 11 – 16 are of four marks each. The answers to these 

questions should not exceed 100 words each. 

(v) Questions number 17 – 21 are of five marks each. The answers to these 

questions should not exceed 150 words each. 

(vi) Question number 21 is a map-based question. Write its answers in your 

answer-book. 

(vii) Questions number 22 – 27 are of six marks each. The answers to these 

questions should not exceed 150 words each. 
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1. ‘npíM_r JR>~§YZ’ go Š`m A{^àm` h¡ ?   1 

 What is meant by ‘Western Alliance’ ? 

2. lrb§H$m _| OmVr` g§Kf© Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm EH$ H$WZ AgË`  h¡ ?  1 

(a) lrb§H$m _| amOZr{V Iwbo Vm¡a na qghbr bmoJm| H$s njYa Wr &   

(b) V{_bm| Ho$ {hVm| H$s AZXoIr H$s OmVr Wr &    

(c) V{_b Eob_ Ho$ {b~aoeZ Q>mBJg© H$mo gmH©$ Xoem| H$m g_W©Z àmßV Wm &   

(d) lrb§H$m _| amOZr{VH$ g_mZVm Zht Wr &  

 Which one of the following statements about the ethnic conflict in  

Sri Lanka is false ?  

(a) Politics in Sri Lanka openly favoured the Sinhalas. 

(b) Interests of Tamils were neglected.  

(c) Liberation Tigers of Tamil Elam were supported by the SAARC 

countries.  

(d) There was no political equality in Sri Lanka. 

3. 1977 _| H$m±J«og nmQ>u H$s namO` Ho$ {H$gr EH$ H$maU H$m {díbofU H$s{OE &   1 
 Analyse any one reason for the defeat of the Congress Party in 1977. 

4. ‘JR>~§YZ gaH$ma’ H$s AdYmaUm ñnîQ> H$s{OE &   1 
 Explain the concept of a ‘Coalition Government’.   

5. _{hbm geº$sH$aU H$s Amoa bo OmZo dmbm OZ Am§XmobZ H$m¡Z-gm Wm ?  1 
 Which popular movement led to the empowerment of women ? 

6. JwQ->{Zanoj Am§XmobZ Ûmam Zd ñdV§Ì Xoem| H$mo {XE JE à_wI `moJXmZ H$m AmH$bZ H$s{OE & 2 
 Assess the main contribution of the Non-Aligned Movement to the newly 

independent countries. 
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7. EH$ CXmhaU H$s ghm`Vm go `h Xem©BE {H$ d¡ídrH$aU Zo ^maV _| n[aYmZ g§ñH¥${V H$mo 

à^m{dV {H$`m h¡ &   2 

 Show with the help of one example that globalisation has affected the 

dress culture of India.  

8. ‘gmPr g§nXm’ Ho$ A§VJ©V AmZo dmbo {H$Ýht Mma {hñgm| AWdm joÌm| H$mo gyMr~Õ  

H$s{OE & 
2

1
4=2 

 List any four areas or regions which come under ‘Global Commons’. 

9. H$m°b_ ‘A’ _| {XE JE VÏ`m| H$m, H$m°b_ ‘B’ Ho$ VÏ`m| go AW©nyU© {_bmZ H$s{OE : 
2

1
4=2 

    H$m°b_  ‘A’                  H$m°b_  ‘B’ 

(a) Xÿgar n§Mdfu` `moOZm Ho$ `moOZmH$ma (i) ~bamO _YmoH$  

(b) OZg§K Ho$ EH$ ZoVm   (ii) _m¡bmZm A~wb H$bm_ AmµOmX 

(c) ñdV§Ì nmQ>u Ho$ ZoVm  (iii) nr.gr. _hmbZmo{~g   

(d) qhXÿ-_wpñb_ EH$Vm Ho$ à{VnmXH$   (iv) _rZy _gmZr     

 Match the facts given in Column ‘A’ with those in Column ‘B’ in a 

meaningful way :  

 Column ‘A’             Column ‘B’ 

(a) Architect of the Second  (i) Balraj Madhok   

 Five Year Plan   

(b) One of the leaders of   (ii) Maulana Abul Kalam Azad   

 Jana Sangh   

(c) Leader of the Swatantra  (iii) P.C. Mahalanobis  

 Party 

(d) Proponent of   (iv) Minoo Masani   

 Hindu-Muslim Unity 
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10. ^maVr` {dXoe Zr{V Ho$ Eogo H$moB© Xmo nj COmJa H$s{OE Omo n§. Odmhabmb Zohê$ go 

AË`{YH$ à^m{dV Wo &   12=2 
 Highlight any two aspects of the Indian Foreign Policy which were 

greatly influenced by Pt. Jawaharlal Nehru.  

11. MrZ Ûmam CR>mE JE Eogo {H$Ýht Mma H$X_m| H$s ì`m»`m H$s{OE {OZHo$ H$maU CgH$s 

AW©ì`dñWm H$m CËWmZ hþAm & 14=4 

 Explain any four steps taken by  China that led to the rise of its economy.  

12. Eogo H$moB© Mma H$maH$ COmJa H$s{OE Omo g§`wº$ amîQ´> gwajm n[afX² _| ^maV H$s ñWm`r 

gXñ`Vm Ho$ Xmdo H$mo C{MV R>hamVo h¢ &   14=4 

 Highlight any four factors which justify India’s claim to a permanent seat 

in the U.N. Security Council. 

13. ‘h[aV H«$m§{V’ Ho$ {H$Ýht Mma bm^m| H$m _yë`m§H$Z H$s{OE &   14=4 

 Evaluate any four benefits of the ‘Green Revolution’. 

14. ^maV Zo AnZo-Amn H$mo, XmoZm| _hme{º$`m| Ho$ JwQ>m| go Š`m| AbJ aIm ? 4 

 Why did India distance herself from the two superpower camps ?  

15. X{bV n¢Wg© Ûmam AnZo {hVm| H$mo ~‹T>mdm XoZo Ho$ {bE AnZmB© JB© {H$Ýht Mma J{V{d{Y`m| H$m 

dU©Z H$s{OE &    14=4 

 Describe any four activities of the Dalit Panthers to promote their 

interests.  

16. ^maV Ho$ {H$Ýht Mma àYmZ _§{Ì`m| H$m CëboI H$s{OE VWm CZHo$ H«$_e: JR>~§YZm| Ho$ Zm_ 

{b{IE  {OÝhm|Zo 1989 go 1999 Ho$ ~rM g§Kr` gaH$ma H$m g§MmbZ {H$`m &  14=4 

 Mention any four Prime Ministers of India and name their respective 

coalitions that led the Union Government from 1989 to 1999. 
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17. ZrMo {XE JE$ AdVaU H$mo Ü`mZnyd©H$ n{‹T>>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :  
  ‘Š`y~m {_gmBb g§H$Q>’ erV `wÕ H$m Ma_ q~Xþ Wm & erV `wÕ g§`wº$ amÁ` A_arH$m 

Am¡a gmo{d`V g§K VWm CZHo$ gmWr Xoem| Ho$ ~rM à{VÛ§{ÛVm, VZmd Am¡a g§Kf© H$s EH$ 
ûm¥§Ibm Ho$ ê$n _| Omar ahm & gm¡^m½` go BZ VZmdm| Am¡a g§Kfm] Zo ‘nyU©ì`mnr aº$a§{OV `wÕ’ 
H$m ê$n Zht {b`m &   

(a) ‘nyU©ì`mnr aº$a§{OV `wÕ’ H$m AW© ñnîQ> H$s{OE &  

(b) ‘Š`y~m {_gmBb g§H$Q>’ H$mo erV `wÕ Ho$ Ma_ {~ÝXþ Ho$ ê$n _| Š`m| g_Pm OmVm  
Wm ?  

(c) ‘‘{dMmaYmamË_H$ g§Kf© ^r erV `wÕ H$m EH$ H$maU Wm &’’ Amn Bg H$WZ go H$hm± 
VH$ gh_V h¢ ?  1+2+2=5   

 Read the passage given below carefully and answer the following 

questions :  

  The ‘Cuban Missile Crisis’ was a high point of what came to be 

known as the Cold War. The Cold War referred to the competitions, 

the tensions and a series of confrontations between the United States 

of America and the Soviet Union, backed by their respective allies.  

Fortunately, however, it never escalated into  a ‘hot war’. 

(a) Explain the meaning of ‘hot war’. 

(b) Why was the ‘Cuban Missile Crisis’ considered as the high 

point of the Cold War ?  

(c) ‘‘Ideological conflict was also a cause of the Cold War.’’ How far do 

you agree with the statement ?  

18. ZrMo {XE JE AdVaU H$mo Ü`mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 
  H$m±J«og H$m OÝ_ 1885 _| hþAm Wm & Cg dº$ `h Zd {e{jV, H$m_H$mOr Am¡a 

ì`mnm[aH$ dJm] H$m EH$ X~md g_yh ^a Wr bo{H$Z ~rgdt gXr _| BgZo OZ Am§XmobZ H$m 
ê$n bo {b`m & Bg dOh go H$m±J«og Zo EH$ OZì`mnr  amOZr{VH$ nmQ>u H$m ê$n {b`m Am¡a 
amOZr{VH$ ì`dñWm _| BgH$m X~X~m H$m`_ hþAm & ewê$-ewê$ _| H$m±J«og _| A§J«oµOrXm±, AJ‹S>r 
Om{V, D±$Mbo _Ü`_ dJ© Am¡a ehar A{^OZ H$m ~mob~mbm Wm & bo{H$Z H$m±J«og Zo O~ ^r 
g{dZ` Adkm O¡go Am§XmobZ MbmE, CgH$m gm_m{OH$ AmYma ~‹T>m &  
(a) X~md g_yh go Š`m A{^àm` h¡ ?   
(b) ñdV§ÌVm àmßV hmoVo-hmoVo, H$m±J«og Ho$ EH$ gVa§Jo gm_m{OH$ JR>~§YZ Ho$ ê$n _| 

n[ad{V©V hmoZo H$m H$maU ñnîQ> H$s{OE &   
(c) ~rgdt gXr  _| H$m±J«og EH$ OZì`mnr amOZr{VH$ Xb H¡$go ~Z JB© ?   1+2+2=5   
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 Read the passage given below carefully and answer the following 

questions :  

  The Congress evolved from its origins in 1885 as a pressure 

group for the newly educated, professionals and commercial classes 

to a mass movement in the twentieth century. This laid the basis 

for its eventual transformation  into a mass political party and its 

subsequent domination of the political system. Thus the Congress 

began as a party dominated by the English  speaking, upper caste, 

upper middle class and urban elite. But with every Civil 

Disobedience Movement it launched,  its social base widened.   

(a) What is meant by a pressure group ? 

(b) Explain the reason  for the Congress to be transformed into  

a rainbow-like social coalition by the time of Independence.  

(c) What made the Congress into a mass political party in the 

twentieth century  ? 

 

19. ZrMo {XE JE AdVaU H$mo Ü`mZnyd©H$ n{‹T>E Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :  

  1977 Ho$ MwZmdm| H$mo OZVm nmQ>u Zo AmnmVH$mb Ho$ D$na OZ_V-g§J«h H$m ê$n  

{X`m & Bg nmQ>u Zo MwZmd àMma _| H$m±J«og emgZ Ho$ AbmoH$Vm§{ÌH$ M[aÌ Am¡a AmnmVH$mb 

Ho$ Xm¡amZ H$s JB© {d{^Þ µÁ`mX{V`m| na µOmoa {X`m & hµOmam| bmoJm| H$s {JaµâVmar Am¡a àog H$s 

g|ga{en H$s n¥îR>^y{_ _| OZ_V H$m±J«og Ho$ {déÕ Wm &      

(a) ‘OZ_V-g§J«h’ H$m AW© ñnîQ> H$s{OE &   

(b) ‘‘AmnmVH$mb Ho$ Xm¡amZ,> hµOmam| bmoJm| H$s {JaµâVmar VWm àog H$s g|ga{en O¡go H$m ©̀ 
AbmoH$Vm§{ÌH$ Wo &’’ Š`m Amn Bg H$WZ go gh_V h¢ ? àË`oH$ H$m`© Ho$ nj AWdm 
{damoY _| EH$-EH$ Cn ẁº$ VH©$ XoH$a AnZo CÎma H$s nwpîQ> H$s{OE &     

(c) 1977 Ho$ MwZmdm| H$mo ^mar ~hþ_V go OrVZo Ho$ ~mdOyX, OZVm nmQ>u Ho$db Wmo‹S>o 
g_` Ho$ {bE hr gÎmm _| Š`m| ahr ? ñnîQ> H$s{OE &    1+2+2=5   
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 Read the passage given below carefully and answer the following 

questions : 

  The Janata Party made the 1977 elections into a referendum on the 

Emergency. Its election campaign was focused on the non-democratic 

character of the Congress rule and on the various excesses that took 

place during this period. In the backdrop of arrests of thousands of 

persons and the censorship of the Press, the public opinion was against 

the Congress.  

(a) What is meant by ‘referendum’ ?  

(b) ‘‘Acts like arrests of thousands of persons and the censorship of the 

Press during the Emergency period were non-democratic.’’ Do you 

agree with the statement ? Justify your answer with one suitable 

argument for/against each act.   

(c) In spite of winning the 1977 elections with a thumping majority, 

why could the Janata Party remain in power only for a short 

period ? Explain.  

20. ZrMo {XE JE H$mQ>©yZ H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :   

 
 

(a) `h H$mQ>©yZ {H$g Xoe go gå~pÝYV h¡ ?    

(b) Bg Xoe H$s Am{W©H$ Zr{V`m| _| ‘V~’ go ‘A~’ VH$ AmE {H$Ýht Xmo n[adV©Zm| H$m 
_yë`m§H$Z H$s{OE &  

(c) Bg Xoe _| hþE ZdrZV_ n[adV©Zm| Ho$ {H$Ýht Xmo n[aUm_m| H$m AmH$bZ  
H$s{OE & 1+2+2=5 
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Study the cartoon given below carefully and answer the following  

questions : 

 

 

(a) Which country does this cartoon refer to ? 

(b) Evaluate any two changes in the economic policies of this country 

from ‘then’ to ‘now’.   

(c) Assess any two outcomes of the latest changes that took place in 

this country.  

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 20 Ho$ ñWmZ na h¢ :   
Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 20 :  

(20.1) ASEAN (Am{g`mZ) H$m {dñV¥V ê$n Š`m h¡ ?  

(20.2) Am{g`mZ H$m _w»` CÔoí` ~VmBE &   

(20.3) ‘Am{g`mZ e¡br’ go Š`m A{^àm` h¡ ?   1+2+2=5  

(20.1) What is the full form of ASEAN ?  

(20.2) State the main objective of the ASEAN.  

(20.3) What does the ‘ASEAN Way’ mean ?   
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21. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 12 na) _| nm±M amÁ`m| H$mo 

      VWm    Ûmam Xem©`m J`m h¡ & ZrMo Xr JB© OmZH$mar Ho$ AmYma na BZ amÁ`m| H$s 

nhMmZ H$s{OE Am¡a AnZr CÎma-nwpñVH$m _| BZHo$ ghr Zm_, à`moJ H$s JB© OmZH$mar H$s 

H«$_ g§»`m VWm gå~pÝYV Aja, ZrMo Xr JB© Vm{bH$m Ho$ ê$n _| {b{IE :  

 

à`moJ H$s JB© OmZH$mar 
H$s H«$_-g§»`m 

gå~pÝYV Aja  amÁ` H$m Zm_ 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

(i) dh amÁ` Ohm± O{b`m±dmbm ~mµJ Zag§hma hþAm Wm &  

(ii) dh amÁ` Ohm± ‘A_yb’ Zm_ Ho$ A§VJ©V, S>o`ar ghH$m[aVm Am§XmobZ ewê$ hþAm &   

(iii) dh amÁ` Omo ‘h[aV H«$mpÝV’ go bm^mpÝdV hþAm &    

(iv) dh amÁ` {OgH$m JR>Z df© 2000 _| hþAm Wm &   

(v) dh amÁ` Ohm± 1960 Ho$ XeH$ _| AH$mb O¡gr pñW{V Wr &  15=5 
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In the given political outline map of India (on page 12), five States have 

been marked as                        and     . Identify these  States  on  the  

basis  of  the information given below and write their correct names in 

your answer-book along with the respective serial number of the 

information used and the concerned alphabet as per the following  

format : 

 

Sr.  No.   of   the 

information used 

Concerned 

Alphabet  

Name of the 

State 

(i)   

(ii)   

(iii)   

(iv)   

(v)   

 

(i) The State where the Jallianwalla Bagh massacre took place.  

(ii) The State where a Dairy Cooperative Movement under the name 

‘Amul’ was launched. 

(iii) The State which was benefitted by the ‘Green Revolution’. 

(iv) The State which was created in 2000.   

(v) The State which faced a near-famine situation during the 1960s.  
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àíZ g§. 21 Ho$ {bE For question no. 21 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE, àíZ g§»`m 21 Ho$ ñWmZ na  
h¢ :   

Note :   The following questions are for the Visually Impaired Candidates only, 

in lieu of Question No. 21 : 

(21.1) O{b`m±dmbm ~mµJ Zag§hma {H$g amÁ` _| K{Q>V hþAm Wm ?   

(21.2) ‘A_yb’ Xþ½Y S>o`ar ghH$mar Am§XmobZ H$m àmaå^ {H$g amÁ` go hþAm Wm ?   

(21.3) df© 2000 _| J{R>V hmoZo dmbo amÁ` H$m Zm_ {b{IE &  

(21.4) ^maV Ho$ nyd© _| pñWV Cg amÁ` H$m Zm_ {b{IE Omo 1947 _| {d^mOZ Ho$ g_` 
~±Q>dmao Ho$ H$maU ApñVËd _| Am`m &  

(21.5) h[aV H«$m§{V go gdm©{YH$ bm^mpÝdV hmoZo dmbo Xmo amÁ` H$m¡Z-go h¢ ?  15=5 

(21.1) In which State did Jallianwalla Bagh massacre take place ?  

(21.2) In which State was the ‘Amul’ Milk Dairy Cooperative 

Movement started ?  

(21.3) Name the State which was created in the year 2000.  

(21.4) Name the State in the East of India which came into existence 

due to bifurcation at the time of partition in 1947.  

(21.5) Which two States were the most benefitted by the Green 

Revolution ?  

22. ‘em°H$ Woaonr’ go Š`m A{^àm` h¡ ? em°H$ Woaonr Ho$ {H$Ýht Mma n[aUm_m| H$s ì`m»`m  

H$s{OE &   2+4=6 
AWdm 

 Aën {dH${gV Xoem| Ho$ {dH$mg Ho$ {bE ‘Zd A§Vam©îQ´>r` Am{W©H$ ì`dñWm’ (NIEO) Ho$ 
{dMma H$mo ñnîQ> H$s{OE & d¡pídH$ ì`mnma àUmbr _| gwYma hmoZo Ho$ {bE `wZmBQ>oS> Zoe§g 
H$m°Ý\«|$g Am°Z Q́>oS> E§S> S>odbn_|Q> Ûmam  1972 _| àñVm{dV {H$Ýht VrZ gwYmam| H$mo COmJa 
H$s{OE &    3+3=6 

What is meant by ‘Shock Therapy’ ? Explain any four consequences of 

Shock Therapy.  

OR 

Explain the idea of New International Economic Order (NIEO) for the 

development of Least Developed Countries (LDCs). Highlight any three 

reforms proposed by the United Nations Conference on Trade and 

Development in 1972 to improve the global trading system. 
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23. g§`wº$ amÁ` A_arH$m Ûmam {H$E JE {H$Ýht VrZ Am°naoeÝg (g¡Ý` H$ma©dmB`m|) H$m dU©Z 

H$s{OE {OZgo A_arH$m H$s g¡Ý` e{º$ H$s gdm}ƒVm {gÕ Ed§ ñWm{nV hþB© &   23=6 

AWdm 

 ^maV Am¡a nm{H$ñVmZ Ho$ ~rM {H$Ýht VrZ {ddm{XV _wÔm| H$m dU©Z H$s{OE &   23=6 

Describe any three operations (military actions) launched by the US 

which proved and established its supremacy as a Hard Power. 

OR 

Describe any three points of conflict between India and Pakistan. 

24. g§`wº$ amîQ´> gwajm n[afX² Ho$ ZE ñWm`r Am¡a AñWm`r gXñ`m| Ho$ {bE _mZXÊS> Ho$ ê$n _| 

àñVm{dV N>: gwYmam| H$m narjU  H$s{OE & 16=6 

AWdm 

 ^maV H$s gwajm aUZr{V Ho$ {H$Ýht VrZ ~‹S>o KQ>H$m| H$m {díbofU H$s{OE &   23=6 

Examine the six reforms proposed as criteria for new permanent and 

non-permanent members of the U.N. Security Council. 

OR 

Analyse any three broad components of the security strategy of India.  

25. 1975 _| AmnmVH$mb Kmo{fV {H$E OmZo Ho$ {H$Ýht VrZ à_wI H$maUm| H$m dU©Z H$s{OE &  23=6  

AWdm 

 B§{Xam Jm±Yr Ûmam ‘µJar~r hQ>mAmo’ H$m`©H«$_ H$mo bmJy H$aZo Ho$ {bE CR>mE JE {H$Ýht Mma 

H$X_m| H$m dU©Z H$s{OE &   1
2

1
4=6 

Describe any three major reasons that led to the declaration of 

Emergency in 1975.  

OR 

Describe any four steps taken by Indira Gandhi to implement the ‘Garibi 

Hatao’ Programme.  
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26. AmO Ho$ d¡pídH$ n`m©daU H$mo ZwH$gmZ nhþ±MmZo dmbo {H$Ýht VrZ ˜Vam| H$m {díbofU  

H$s{OE  &   23=6 

AWdm 

 d¡ídrH$aU H$s {H$Ýht VrZ hm{Z`m| H$m {díbofU H$s{OE &    23=6  

Analyse any three threats to the global environment these days.  

OR 

Analyse any three demerits of globalisation.   

27. ‘‘H$‹S>o _wH$m~bo Am¡a ~hþV go g§Kfm] Ho$ ~mdOyX, ^maV Ho$ A{YH$Va amOZr{VH$ Xbm| Ho$ ~rM 

EH$ gh_{V C^aVr gr OmZ n‹S> ahr h¡ &’’ Bg H$WZ Ho$ g§X^© _|, ~‹T>Vr gh_{V Ho$ {H$Ýht 

VrZ VÎdm| H$m {díbofU H$s{OE &     23=6 

AWdm 

 ‘‘Oå_y-H$í_ra ~hþbdmXr g_mO Am¡a amOZr{V H$m EH$ Ord§V CXmhaU h¡ &’’ {H$Ýht VrZ 

Cn ẁº$ VH$m] Ûmam Bg H$WZ H$s nwpîQ> H$s{OE &   23=6 

‘‘In the midst of severe competition and many conflicts, a consensus 

appears to have emerged among most political parties of India.’’ In the 

light of this statement, analyse any three elements of growing consensus.   

OR 

‘‘Jammu and Kashmir is one of the living examples of plural society and 

politics.’’ Justify the statement with any three suitable arguments.  

 


